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Ma;'ks; &0 Time: Reading time: 15 min

Writing Time: 2hrs.30 mins
ate:22.09.2022

No of Printed Sides: 10 _//’—B’/'

General Instructions
‘This paper contains three sections:
Section A- Reading-20
Scetion B-Writing& Grammar- 30
Section C- Literature - 30

All sections are compulsory

Section A: Reading(20 M)

I Read the following passage and answer the questions given below

[. Around 637 CE, after travelling around North India for a few years, Hiuen

Tsang, the great Chinese traveller arrived at Nalanda-a great world renowne-d
university with ten thousand students. Apart from imparting academic
knowledge, Nalanda taught students how to use copper and other metals, hoxl)v to
sculpt bronze and stone statues, use weapons and understand elephants. Hiuen
Tsang was given the name of ‘Mokshadeva’ at Nalanda. He studied Buddhism

from the greatest teacher Shilabhadra, and also learnt philosophy, logic, yoga and
grammar.

2. Hiuen Tsang lived in India over ten years and he travelled all over the country.
He wrote about every kingdom he visited describing its size, capital, type of soil
, products, climate, the inhabitants and their clothes, architecture, money
government and kings, along with the concepts of Buddhism. Hieun Tsang’s
work provided interesting snippets of information about life in ancient India. He
wrote about the different food habits of people in different parts of India. He also
reported that when a person fell ill in India, he immediately fasted for seven days.
Most people recovered during this fast but if the illness persisted then they took

medicine!

3.Hiuen Tsang had some terrifying adventures during his travels in India. Once
he narrowly escaped becoming a human sacrifice when he and his disciples were
caught by a band of pirates who threatened to sacrifice him to their goddess
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1. Fill im the blanks: {

a N\alandas ersity had students

b The diflcerer ' n India were recorded Dy

Hiven Tsang

g taught Buddhism 1o Hiven Tsang

d The antonvn noe 2 1S

¢. The synonym for caim from -'“‘-’-'-3 >

Il Answer the following:

i. Who was Hiuven Tsang? (n

1. How did the Indians deal w ¢ Css (h

iii. How was Nalanda different tron oT 1Ca 2 Insttutes i
I'sang and ancient travellers ke hum arx

iv. Do You think the records of Hiuen
important” Why

I1 Read the following passage and answer the questions given below:
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L Our schoolehildren gre increasingly becoming overweight or obese (fat).
Certain surveyy Suggest that 2,9-14.3 per cent children in the urban areas could

be obese. Excessive consumption of food high in salt, sugar and fat are the main
culprits for obesity among children living in urban areas. '

2. The results show that 93 per cent of the children eat packaged food and 68

per cent consume Packaged sugar-sweetened beverages . While 56 per cent of
the children consume packaged sweet products like chocolates and ice-creams
more than twice g w ek, 53 per cent consumed packaged salty food like chips
and noodles and 49 Per cent packaged sugar-sweetened beverages like soft
drinks and pac kaged juices. Almost 27 per cent of the schoolchildren consumed

products churned out by fast food outlets. such as burger and pizza, more than

once a week.

3.The survey also €xposes high dependence of children on packaged break-fast
cereals and milk-food drinks. Breakfast cereals are processed and packaged

foods which contain chemical food additives which can be harmful to health.
Hence, these packaged cereals sh<.)uld not be preferred over freshly made

options like idli and poha. On the other hand, milk-food drinks contain very
high amounts of sugar. For example, a serving of Bournvita (20 grams) contains
14.2 g of sugar. This is sufficient to exhaust over half of one’s daily upper limit
of added sugar as recommended by the World Health Organization.

4.The survey also delves into the reasons responsible for the eating habits of
schoolchildren. Even though 91 per cent children carry lunch from home, 40 per
cent carry packaged food to school almost daily. Junk food is popular among
children because it is tasty, convenient and easily available. It is also addictive
Advertisements are an important trigger. Children often become couch potatoes,
spending time watching TV or playing on the mobile, which causes them to
gain weight due to lack of physical activity.(see the picture above for statistics)
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1.Choose the correct alternative:

=Noose the correct alternative

(Ix10 = 10m)
a) The passage is about:

1) Obesity amongst children and its causes
1) Obesity and its consequences

i) Obesity and its connection to rural India

1v) Children are responsible for becoming obese

b) Milk drinks like Bournvita should not be consumed because

1) one becomes dependent on them
ii) the taste can be addictive
iii) they have a lot of sugar which is bad for weight
iv) they contain chemicals
¢) Examples of packaged beverages are:
1) squash, sherbets, ete
i) carbonated beverages, juice beverages and milk beverages hike sweet lassi
i) milk based products
iv) coffee, tea, cocoa, ete.
d) This passage talks about:
a) children trom rural arcas

i) children from metros

iti) children across the globe

iv) children from urban areas in India
¢) TV causes obesity because:

i) Higher the screen time, more the physical activity
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) L.esser the sereen time, more the physical activity

iii) one sits and cats before it

e ———————
m————

I'v) Higher the screen time, lesser the physical activity and eating while
waltching TV

[) The healthicr options available for breakfast are: \
1) packaged cereals

ii) idli and poha

iii) chips and noodles

—————————

iv) burgers and pizza
f) Children eat fast food because:

1) it is tasty, convenient and easily available.
ii) they watch advertisements

iii) they are addictive

iv) all of the above

g) The percentage of children who carry package food to school is:
i) 93%

ii) 40%

iii) 90%

iv) 27%

h) The synonyms for ‘culprit’ from para 1 and ‘exhaust’ from para 3 are:
i) friendly and tireless

ii) innocent and increase
iii) ‘wrongdoer’ and ‘deplete’

iv) criminal and expand




i) l he ill]t()llyms f()l' ‘excesSiVﬂ, frorn para ] and ¢ gain, fl"Om pal'a 4 are.:
i) limited and lose
i) extra and add

i) less and increase

iv) abundant and loose

Section B: Writing and Grammar

Il Write a bio sketch of the President of India, Droupadi Murmu: (5m)

Droupadi Murmu

* Designation: 15" current President of India since July 2022
&

* India’s first woman tribal President
Birth: 20" June, 1958 in Uparbeda Village in the Baidaposi area of

Rairangpur, Qdisha to a Santhali family

e Belongs Lo a tribal community
I:ducation: Graduate in Arts from Rama Devi Women’s College

Professional Career: worked as a Junior Assistant at the irrigation
department of the Government of Kerala

Worked as a teacher in Sri Aurobindo Integral Education and Research
Centre in Rairangpur

e Political career: started as an independent candidate

¢ Has handled many ministries at the state level

e member of the BJP party

e 9" Governor of Jharkand

IVWrite a letter to your grandmother thanking her for the wonderful time you
(7m)

spent with her in the village.
(8m)

V Write a story based on the given clues:

It was the day when we were having the annual school picnic after two years of
the pandemic. The site of the picnic was a surprise. Nobody except the teachers
knew where we were going. I reached school excitedly when..........

VI Fill in the blanks with the appropriate form of the verb:  ( 1/2x8=4m)




I Jack
eX: was re
S really unlucky this morning. Ashe) (leave,

leaves
S, was leav] ‘ T 1
caving, is leaving) his apartment building, he was hit on the head by

a flower -
ot which hag (y, ) ~( fell, fallen, falling, falls) from a

wind i
. Xihdopsill. When he(c) gt _ (reached, reaching, réach, reaches)

the bus st .
S1op, he saw the hys just(d) __________ (leave, leaving, lcaves,

efi)the station. What apity! He (¢) _ (s, had been, will be, was)
already late for work. A fier |5 minutes, the next bus finally (f) ______ (was

arrivi : . . . :
ving, arrived, will arrive, arrives). Whilehe (g) _________ (wasstanding,

iS . H i N i N 3 . .
standing, stands, will be standing), a pickpocket (h) ___(steals,

stealing, stole, will steal) his wallet.

V11 Edit the following passage. There is one error in each line. Write the

incorrect word and the correction as given in the example, against the

correct blank number: (1/2x8=4m)
Incorrect Correct
Ex: plays play

Do you plays football?

Today, football was popular in every part  a)

b)

of the world. Players runs from one

corner of the playground of the other corner ¢)

with fully enthusiasm to score goals. d)

Iy
¢

They reached the goalpost of the opponent  ¢)_
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. Hary YEARLY EXAMINATION [2022-23]

glasﬁz V1 Subje°t= Sanskrit ~ L3
. I
Nz . 16'09.20 Max. Marks: 30
Na. Sk Sideg, 0422 Reading time: 8:00 am to 8:10 am
- -...t,ne % Writing Time: 8:10 am to 9:10 am
In&trﬁca(‘)‘;‘g::j::\h Roll No. Sec‘:_txon: -
* Write . F e
0 -
* Reaq a‘: tuhr Name, Roj number, Section in the answer script.
* Answey a”e Questions carefully.
* Jug the Questions and write neatly.
Fo_ : :
® =TToT: —
T vy ST arrar:
. m" \;T, - ("I ]’ q‘i‘fﬁ"{ = 8
S Tz ., | OAT RO - 11
T REICGE: U

I PBoaa gug \F/ - qUfSq IE:
the Passage and answer the questions given below

T, I |
T ST W fmre: afe | wen s afar gare
R

‘”ti”ﬁ_ T, THAT, frerd TATES: TH@T: | TEEAT IEHEATH T |
T a1 T gy - e, ofRmegg - Regare, 3R

TIAR | wf amy e, qEINET,  ORIFdl  ZTeATEA: e YEgld |

TSR opirfiars gfg |
T AT A o R s q et | de e g g wd A

AFAT 1 T, g Fogfeq | wo AT Shamegfy: 7 wafy | a9 98 ==
AT adar gdour wepfar |
A. UFYIT IUW | Answer in one word.

1. e 7 aftg 2
2. TEET FET: IEHACATH? ek

B. Yo 9TRIT SW | Answer in complete sentence. (L X 2 = 9)

1. Ty fAer Fusn FW &g 7 agafa »

(% X 2 = 1)

5. ZfRUIWRA #T: T YEERT 2




Ty .
1_ﬁﬁ&rGﬁTH (2% 4 = 2)

3. { ﬁmﬁb T, oauE )

Ir.

Picture and make 4 sentences with words given

ox TR gezaT ASS[ETAT: USRI SULST 4 ITHRATH THET

in the helpp

(1 X 4 = 4)

III.9TRIT 6e5d SgaTd ged |

Translate the sentences to Sanskrit.

1. Boy plays. @& @efar g |

2. Girl reads a book.

qTforeRT & qedl ¢ |

Woman gives a flower.

qfger 957 <t g |

Mother comes home.

HTar °X Sl g |
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| Answer in one word (*2 X 2 )
LR T quf o
- lEﬁT:f‘)Iﬁ[?Lv
o [ ST | Answer in complete sentence. (L x1=1)
L. Be-amer-yae ¥ qofa 2
IX THTATAHYE orgq | Write the Synonyms e x 4 = 2)
1. =T =
E CIEES -
3.0 O -
\{_ Qﬁ: —]
e X 4 =

X fegrdfeue for@d Write the Antonyms

1 o X
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3. 9id: X
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SINDHI HIGH SC1 OOL, BANGALORE

HALE YEARLY 1X \MINATION (2022-23)
Subject ~ M VTHEMATICS

Class- 7

Date: 33/‘)/2“23

Nao of sides: 4

Max Marks: 80
Timings: 8.00 ~ 10.45am
Reading Time: 8.00 - 8.15am
N D Writing Time: 8.15 -10.45am

SECTION - A E s
I Ti:e addition of —75 ang — 14 1
a) 89 ) -89 mmt o a) =61
2. The decimal form of Zig
a) 1.4 ean el
b) 0.07 c) 0.7 d)0.14
" 3 22
4 E— M e
a) = Z -2 Z
7 b) 2 c) =y d) 18
4.

Negative of a negative integer js
a)y 0 b) positive ne

c) negati* 2 d) does not exist

5. The product of two integers is —18. [lo ¢ ol them is 9, then the other is __
a) 2 b) 20 ¢) =20 d) ~2
6. What should be subtracted from 0.2 to g10.047
a) 0.1 b) 0.6 c)0.16 d) 0.61
7. Zis :
10
a) 0.07 b) 0.007 c) 7.0 d) 0.7
g L
9 18 ‘
a) 8 b) 40 c) 36 dy 12
9. The reciprocal of :—;-31 is_ L
~13 13 -13 11
T b et s
10, =2 + = ]
14 ——
af 2 = -1
ol - N %3 d) 7
I1.1f3x = 21, then x =
a) 21 b) 8 &7 d) 3
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a) 1 e - &) mimEpne
b) 2 ) 3
Fill oo o Bleaiks-
16 The smmof 4352002 = _
of £35=21
o - _ sz
The somderd fons of — 5
forsof — 5
I8 Fi3x—5=32 themx~ .
e
- ) il -
© Tz so——l=mens zmzlie of £T ic )
arpicmners amshe of L 10 ek

- —mmm otm

imtersecis tWio OF EOEE (I

——— R -
SECTION -B

¥ FTlaa oo 0 2o 27 S0 Gnd e
21. The cost of one pen is 32.50. Ond e RO 3

Y eyt ths ma £ cE Y i adided o Y IS
22 FmG the mEmpey, I 1V 35 &5 led 10 SIX UCOES O
3 2 o S =S sl vmlne of
23. In the given figure, finc (C Vallic of LCOD.

4

ny
o \ /7 )

A O !
24 If the sum of two integers is —33 and o
25. Find the product of — and —
26. Write the integers in descending order
105, -61,-29,-17, 34

W]

»
C '\
N

o b crstimcT QOIS D E RS
e e et

.2 of them is 9. find the other integer.

- amries ou T same sde of e Tamsversal

Ix8=24

7. Write the general rule and verify the as: aciative property of multiplication for
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8) D04 1060 "%
LTI U P T
N U T

29 Wha shaid he L1 I P

4 L
o gt
"' \‘I'\g "2

’.. - l" d
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Vi Ram 0 yoms Ol mod bus Tuther is Y 1 wes phdes than how ]
(1Y 2.. "m‘ “m.‘. oy
12 Inthe Biven figure | | ind the valus 75,8 B ¢

i aPn”
*

o 100 .
b “

-

« /o J -
L
' ?
1. Verily x ¢ (y + &) = (x + y)tzforx=-"y=~)and2 sed in the following graph. Stady
34 The results of pass percentage of class 3 and X1 are depic

the graph and answer the given questior

l_"_',] TR B R UIER Y

1{" =
W ‘.:l .,-. N " ‘ -F
=1 ell He £ w1 ]
L | SEEEER
o l i HENE | | i'
“ . ‘ "’ " ii A
w0 N RRERRE R
! 0 | ! ‘ 2 | I i
0 4 i ' [ | . ;
n«»ze},_gr‘_.:_
4 L } Eed ] ¥
¢ ELIE BT

a) Give a title to the graph 1
b) In which year did the class X stughen & scone the highest perceniage @
¢) In which two years did the class X1 audents scove the same percentags

dabm 4
18 Verify the property a x (b} = (aa bl axciby shkings =4, b= -Sond ¢~ -2

16 The length of a rectangle is 1 Sm and its tveadth o 0 Sm. Find s

a) Penimeter
17 Arange the following Rational number: in ascending order | . T

3
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a) I which year did the least number of students go abrond”

by What is marked on X axis?
¢) What is the scale chosen on ¥ axis”
d) Find the total number of students v 1o went abroad in the 6 yeary?

MEHRAUAKEERHIN  HARK




= SIND : -
= Hlyigy SCHOOL. KK ROAD: BENGALURU-S00001
: o L 2223
DATE, MARKS: 80
20!9/22 ¢
NO OF SID " Reading time: 1Smins
ES: og W\ riting time: 2:30hours

SUBJECT- SCIENCE

SLNO T————— £
= e et _ MARKS

- | T AT i
GEN , SUESTIONS____——————
‘“’l‘iFeRL?eL 1.\STRL_-CT10X§: s S

' o : o subject clearh)

the answer xi::: roll number, class, Section, date and sub]

* \\f %
' rite the p:
. ag ) e R
of the Pape;-p g€ number on the right hand side OF
L .
| (3 ()) The question b b
™ questions in nprise
s 1§ tha MNract e= »
(“} Secti()n -\ s \i.-d.\b:lon :"1"?6?’ _\‘ ‘
one A- questions or parts from question 1
-1l Fi ~ i L RS .
The 1ark, comprises MCQ, VSA type questions.
vV G £ M .
Y @re 10 be answered in one word Or in 0N seNLE
ort answer B pe gt

corner of cach side

< three secuions. A.Band (. There are

questions are compulsory.

uymber 1 10 20 carm ing

=]

ce
(ll ecr) . . al .
HH) Section B- question number 21 w2 30 sh Ieshions.

xeeed 30

Cﬁu—r\i‘?-‘ - 3 » il Y Wa
arrying 5 marks each. Apswers ta thése questions should not e

' 10 60 words.
(iv) Section C- question number 30 1o 30 long answer &3 pe questions,
carrying 5 marks each. Answers to these questions should not excead 80
to 90 words.
(v) Answer should be brief and to the point. Al
word limit be adhered to as far as possible.
(vi) There is no overall choice in the question paper. However, an
provided in same questions in each section

t internal choice has been p
' Only one of the choices in such questions have to be atempted.

so the above mentionad

aL.NO. SECTION - A MARKS
~ : N-A
The range of Laboratory thermometer is
l (a)-2°C1o 100°C (5)32°C 10 47°C
(c)-10°C 10 110°C (d) 33°C 10 43 °C
. Vinegar is the another name of § o
L (a) Acetic acid . (b) Sulphuric acid
o 1

(c) Carbonic acid 0y it seid

—

_______‘..————-—_:——-——-——'— . < e
Which one of the following is a parasite?

|

(b) Cuscuta ;

3 (a) Lichen
(d) Mushroom

{(c) Pitcher plant




e ——

._-- B TN
. P‘_Eypf‘ of image
A dental mirror shows ____ —

(b) Virtu %
(2) Virtual and real al and Smaller

(d)Virt :
(<€) Virtual and magnified g A el el :
o e Identifv the oo |
An element has 13 protons and 14 nentrons. Identify the name of the —
5 ?;‘eigzazst ‘ (b) Aluminium
hlorine (d) Man 1
(<) Sodium A
, - /—\\\—
6 Human beings can be categmised s (b) Autotrophs
(@) Heterotrophs Sapr ]
(¢) Parasites s S ol
- o e ——__—-—_—_——_—‘“—_\__\__h——%
- 6 >
y —e——— " &>

1
Name the property of light shown in ‘he picture.
- (a)Reflection
{b)Refraction
(¢) Dispersion
___(d)Rectilinear propagation
' The element which is represented by the symbol Au is
8 ' (a) Argon (b) Gold 1
| {c) Aluminium (d) Potassium
The blood cells which help in clottin:y are
' (a) Haemoglobin (») Platelets .
' (c) Red blood cells (1) White blood cells
?Name an instrumental device used to amplify the sound of heaut.
10 |(a) Stethoscope (t) UV machine
; {c) ECG machine (¢) Ultrasound machine

T | Define reflection. |

12 i Why noble gases are called inert gas 3? |

13 State the function of valves. 1

14 Why is the handle of frying pan mad.: of plastic? l

i

R
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dlen(? o
Y of go: —— .
——d . lum i -
\ame-the $*1. Give reason
- I s s L
o= ™Y that carries carbon-dioxide rich blood
——t l =
‘6;'{‘:-\ > Used as side view m rror. Give reason
e Galygrnioor—ou_
ANtae:
______\_:k_‘\_\ nl&dll()n_
Name the ; - o
HUssues j 2 e - s substances in the
Plants S INVolved jn the transportation of substances

R s _h‘.—-_-—_
- “W—

SECTICN-B

~\—._—_.—_“_
a. [dentify :
fy the thermometer shown in ihe given diagram

b. Why does the temperature in this thermometer do not fall when it is

- L

taken out from the mouth?

c. Give any 2 precautions to be followed while handling the same.

i

I 2

d

}“ A

AN

| a. Describe how crystals of copper sulphate is prepared?

]
1

i
]

b. Mention the products formed whea Iron nail is dipped in Copper

Sulphate solution.

|
|

|
|

Observe the given schematic diagcam of circulation and label all the

parts from A-F.

oy

Ny

Wl

-t
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v then
boils, Akash keeps the faboraton

NPT
wWhaereas Swethn does the same ¢\
iagram (v

(o
1

Who s more ikely 1o et an aceurat
* What s the STunit ol temperature

Draw the

number and electronic configuration.

T —

' a. Name the organism that

appears to
'b. What is the

mode of nutrition of t}.

_{¢. In what condition do they oflen gro
=

smpel lvl‘\_lti'“'(ﬁﬁi*‘“‘"*r-a %
e SN \ a N —
While d ment o measu the temy Wiieh Walgy
HEdome an experm

atomie structure of Sulphur. Write its aton

ometer as shown iy, dagram, tii) ';
‘nt W |[h [h\\ ”1\‘1'"]\\;]]0( N : |
&) ¢l hn\\“ as !
§
|
1 1
11 |
| ?
[ | -
il ! 3
|
I |
by
1

reading and why?

——

i |
UC number, masg

()

graw on the bread?

torganism seen above?
w?

¢

| Give reason for the following :

| a. We feel comfortable wearing lig
b. Air conditioners are fitted atal,
¢. Quilt and woollen clothes are u

e

—

a. Take a small piece of g thin strip o
flame. It burns wit a brilliant white !
b. Represent the above reacti

¢. What is formed when

TS
ht coloured clothes i summer.
\gher level in the room. ' 3
ed by mountaineers,

]

3

X" and bring the tip near a candle |
ght. Identify the *X",

5

|
this reaction is mixed with % 3

i
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d W]Jul
15 Al
b Wi tm/,: W servation ji; est wlbe 27
Mlecular fonnula of the products and reactants of the same

i
!
'
| IV nie an weni s
Ay ity cxpbain Light 15 necessary for photosynthesis
'}d} { ‘ ; (}’i’
J "‘f‘d“l ll‘{" ““‘.‘! ; ,
, Vidd s ’ 2o b her plant with the hel
of Sowsom 0ot nsect wapying by piicher pla [
!
{ “ ,fa' M &2 L 3 [ y
YK the 1w types of sphierical wiorors

b D the Ak iy ors
Withioit o Wing the surface of the, above mirrors, how would you

|
¢,
|
| !“&flﬂli/ Hiespy's

4
. I slaniding before a I’f”“‘ ror, you tuch Yo feose with your iefl

hand, vl Land of your inage will touch your nose”? What is this
{I‘M’Hl?nu tiah Cialled’?
b, bxplisin § ispersion of Jigh wnh sii table examples

f

|

f

1 SECTION €



. ldentify the lens which is used v the "}M“\ A e
b. Mention the characteristics of in age tormed by the same

ey ~ N SN\ ~ PN
¢. Draw the diagrams and differenuate between comy crging and

diverging lens.

T —————— e

a. What is rusting? Rusting of iron obje ots are faster in coastal are

astal areas than
- In deserts. E\piam

 b. Differentiate between physical chan; e and Chemical change.

Priya’s grandfather was taken to the hospital as he was unable (o perform
; excretory processes. Priya heard a nurse talking to her father that her

grandfather has kidnev failure and need's
a What do vou mean by dialysis?
' b.What are the constituents of urine?

| | ¢. Draw a neat labelled diagram of hun-an excretory system,
|
{

(5]
L3 ]

s to undergo dialysis.

l

‘—*ﬁLound bottom flask \

)_“ —» water !
|
| A

Potassium permanganate

;\ : —_

|_Bunsen burner‘\

A. a. Identify the type of heat trans|r taking
flask shown in the above plcture

—._—_‘.._
.

' oy |

o

place inside round bottom

I
L Sy
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Crvations. ‘ anket.

r than one thick bl

S Prefery
red (o use two thin blar. tets rathe

. W1ic] s
118 the .
the fastesy method of hes transier: Why?

IR N

he following questions

o
b

answer

;"‘
G
>
=1
o
= =
R
0z
<
a
5
o

%

=

2

5

[£]

5

=

o~

=

o

S —
=
L P

e
4
2
i

f the rod at

Fake .
ke a meta] rod .Using wax.stick som - nails along the length o

' equal distances.

a. In which order nails will fall in t e above experiment.

I
b. What does this experiment illust ate?

| ¢ Name the process involved in th s activity.
| d. Differentiate between sea breeze and land breeze

;
& Write the molecular formula of the g ven compounds using Criss-cro

}
| method:
Magnesium hydroxide

ti. Ferrous Sulphate

' b. Write the symbols for the given elen.2nts

| 1. Silicon

I'ii. Lithium i

; OR

f

; a. Write the electronic configuration of the given element
f (1)Nitrogen

g' (11)Boron

F
b. Find the valency of Underlined ions 'n the given compounds.

i. CaCl: il. NaNO; iii. H-SO,

e e ——
r—
-

-wi-fM'M o
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T T ""’": T 3 —
"a. Describe the method for replenishing: the soils With minerals and other

| essential constituents used by pl
| b. Can we imagine life on earth

crop?

ants growing in those soil by farmers
in the »:bsence ot photosynthesis?

OR

a.Why farmers do not add fertilizers during cultivation of leguminous

b. Explain symbiotic relationship with the help of example.
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ass: y;;  SUBJECT: CIENCE
o o e Max. Marks: 80

Date:
No. ofl?' -2022 Reading time: 8.00 am to 8.15 am
N Wiiting Time: 8.15 am to 10.45 am
Genel.al
. Instructi(!ns; -
Sections with 35 questons

s
- . Q Uestion Paper is divided into 5
N Secng A has 20 questions. Queston 1-20 for ‘ mja-rk each}.}
vy B has 3 questions. Questdon 21-23 for 4 marks each.
" Secaon c 1_333 6 questons. Question 24-29 for 1_3_ marks each.
* Sec o ? _nas 5 questions. Question 30-3¢for o marl_zs each.
SCUON E has 2 questions map/ Drawing-based quesuons.

33' L History map for 3 marks. |

35.2 Geogra hy drawing for 2 marks

Section-A
1. Where were the manuscripts placed?
(a) Athome (b)In ::;.:»Eca}d (c) In archives  (d) In boxes

N R
r their kings during 17th century”

2. Who were expected to bring gifts for tt
(a) Samantas (b) Overlords  (c) Maha-samantas  (d) Maha-mandaleshvara

3. In which language was the Prashasti written?
(a) Hindi (b) English  (c) Sanskrit (d) Urdu

4. A fortified settlement with soldiers was
(a) hinterland  (b) garrison town () jagir  (d) none of these

5. Who was Akbar’s Revenue minister?
(a) Todar Mzl (b) Birbal (c) Abul Fazl  (d) Tansen

6. Which of the following was butlt by the Delhi Sultans:
(a) Dehli-i -Kuhna  (b) Siri  (c) Jahanpanah (d) All of these

7. At the time of partition the refugees were preferred o be called
(a) Muhzjireen  (b) tourists  (c) pilgrims (d) wavellers

8. Karachi was sigmﬁcz-mt because it was the
(a) country’s capital cy (b) only major port
{c) biggest financial Centre (d) All of these




“‘“ik:n} ery year’
(a) H‘.s * World Environment Da’- _ lebrated every 3 5 June
2" July (®) 15* Jupe (c) 5% July

12 Whic -
o= “'“ P\T :: J\‘_‘E ams *17:\_-3{5 P _I:T::." -'.\'"‘J' 5y QedmeTkary

'.-‘JFG:S‘..L_‘ (b) leneous (c) Metam

" -
12, 2t Nkt - -
The Taj May IS made of , 43 Yellow marbic
- 3 P 4——"': _: - - -
R.i}\\""':*-.-:-.: ": B;;&ﬂg?ﬂ {C Rz maz
1%, Larpe deposits of koecs i Swad i o
= PR N AN 1 30CSS S IoanC D — - i
s 43 C
< ."i'.'.‘o..‘_: b)) Paipcren Cr o=
2. Ancan-Amenicans were Ssrmmaesd aoamst | ST Ot
2 -3 USA 2y AsT

16 Whar does RMP —mearn” )

R B o ’—h.“"m::'i
{3} Regxseered Modca! Pracosorers o

e . ———

ich Rec&z:::::‘ Madoal Pracooooers d

I7. MlAsascelocsed b 4 Veminers of Periament
(2} te peopic A S

<) selecaed CSCREETvES -

e Sor T T e # coosToEIcees 1
o ¢ wonse |

i$ A g wl

i If T

E,
\

- A, - = - LiytarearTei

The asked 3l s sowerneT T tepm Waddes mes!
- IR X TS
Zer schoels o
MI axz () Huhk Comt i) Do Conrt L LI Loaet
ﬂw




Iy REap Section-B
THE
QUESTIG g XTRACT AND ANSWER THE FOLLOWING eat

21 My i
ey Wellihaéss Were the descendant of two great lineages of rulers. From their mother’s side
centra] i Cendants of Genghis Khan, the Mongol ruler who 1-uled'over part of China and
Iraq ang m -d 'Om their father’s side they were the successor of Timur, the ruler of Iran,
ongols T?' m day Turkey. However, the Mughals did not like to l?e called Mughals or
" IS Was becayge Genghis Khan’s memory was associated with the massacre with
hand, the pg ooCPl®: It was also linked with Uzbegs, their Mongol competitors. On tho other
ughals were proud of their Timurid ancestry, not least of all because their great

an
Cestor had captypeq Delhi in 1398.

21.1)
————— __Was the ruler of Mongol

21.2 :
) The great ancestor of Mughals captured Delhi in
@1298  (b) 1289 (c) 1398 (d)1389
21.3) State True of Falge.
From their mother’s side Mughals were descendants of Timur.
21.4) Timur was the ruler of

(a)Iran (b)Iraq (c) Turkey (d) All of these

22. The earth is made up of several concentric layers with one inside another.
uppermost layer over the earth’s surface is called the crust. It is the thinnest of all the layers.

It is about 35 km. on the continental masses and only 5 km. on the ocean floors. The main

mineral constituents of the continental mass are silica and alumina. It is thus called sial
(si-silica and al-alumina). The oceanic crust mainly consists of silica and magnesium; it is
therefore called sima (si-silica and ma-magnesium) (Fig. 2.2). Just beneath the crust is the
mantle which extends up to a depth of 2900 km. below the crust. The innermost layer is the
core with a radius of about 3500 km. The central core has very high temperature and

pressure

22.1) Name the main mineral constituents of the continental mass.

22.2) The crust consists of silica and magnesium

22.3) The innermost layer is the
is the thinnest of layers.

22.4) The

The



23. In o
goVemn?;;]fll"to fulfil its commitment of providing l}calth care to all citizens, I_hf..;
o rup these 1as established the Public Health Care Services. Also the resources needed
'Ie:, are obtained from the money that we the |)Ubll£:. pay to the government as
Village healljgf such facilities are meant for everyonc. Al village 1‘fV31 - f‘ur"-“j*_“‘:‘d}_“‘
Supervision of worker are trained in dealing with common illness and work unc (,;.1; e
aspects of tIO doctors at the Primary Health Centre (PHC). One of the most important
e Public Health system is that it is meant o provide quality health care

SCI'ViCQS 3 5
cither free or at a low cost. So that even the poor ¢an seek treatment.

23.1)TS_]‘,[ate True or false
he Public Healy system provide quality health care services al high cost

23.2 ,
) —_____ establishes the Public Health Care services.

2327 Expand: PHC.

23.4) At village level and are trained in dealing with common illness.

Section-C

Il ANSWER THE FOLLOWING BRIEFLY (3x6=18)

24, How did Delhi become an important city in the twelfth century.”?

25. Who was Dantidurga? How did he become a kshatriya?

26. What is Ecosystem?

27. (a) What is a Rock?
(b) Differentiate between Extrusive and Intrusive

are included in the recognition of equality?

Igneous rocks.

28 Mention any three provisions that

29. Explain the positive effects of the Midday meal programme.

Section -D

n
-
N
it
[ )
wn

IV ANSWER THE FOLLOWING
30. Why did the peasantry suffer tremendously during the last
years of reign of Aurangazeb?
OR

Explain the features of Akbar’s administration.



St .
W e Prepatadness that ate o be Rottowad during an Favthguake

OR
W Pnlain

a
S

32 (@) l\:z!‘vmmaw

Dotwveen hiotie and ablotic components with an example each”
®IWhy do iy

Hhan beings modify nataral environment?

RR i\?i ;
AP abo . :
W the Private Health services.

34 .
S What is the
® How ;: e purpase of a press conterence?
wha NN the press conftrence help you fo get information on
ML the govermment is doing?
OR

a) Explain: At
(2) Explain: Opposition parg

(®) What is 3 Legisl
debate?

Section- E

33.1) Onthe given political map of India identify the following dynasties

7
p 1...,"’:- ﬁ”‘b
\,\ \{“ f
Ty
o F 4

g

35.2) Draw a neat diagram of flood plain and mark the following:

‘4

(a) Meander  (b) Ox-bow lake
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ative Assembly? What happens in a Legislative Assembly dunng a

‘ot
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rinted Sides: 2 Date: 18/9/22

I. Fillin the blanks:

[. The i
symbol is used for absolute reliencing.
2. If
iC ou or i ‘ |
you have typed formula in a cell, you can set the formula in the
the cell is selected.

Lk}

4. The app is stored with the extension

1s a pictorial representation of dat .

5. The operating system for an Apple device 's

I1. Write True or False.
i. To delete an app from mobile device, click UNINSTALL button.

You cannot change the chart type. |

The error #### shows that the column is not wide enough to display the value,

1o

(U]

4. App development soltware are not free.

~ 11I. Write the full form for the following:
’ 1. API .
*I 2. QR

|

|3 HTTP .

IV. Give one word for the following:

1. Itisalso called as value axis -
The process of’joining text value in a series - ot
ga cell reference to a formula by c'icking acell orarange-

3. Addin

| 4. The area within whi
A personal computer with a touch screen display TR

ch all chart componerts are found -

&
]
]
§
!

e
o —

Class: V]I
Subject: Computer Sclenee
N0 am

Welting Time: 810 = 9:00 am

I P aX1=8

bar when

dx1/2=2

Ix=

SX =t

[ R



V.

C .
hoose the correct option: 5X1=5
1. Which one is not an audio/video call app”
1. Facetime ii. Google Duo i, Sk';‘/pe iv. Internet Explorer
2. Which formula error shows that the formula refers to a cell that does not exist
i. #REF! ii. #NUM! iii. #N/A iv. #VALUE!
. 3. Which is not a sparkline type?
| i. Line ii. Bar iii. Column iv. Win/Loss
4. Which is not a mathematical operator?
i’ L+ ii. ~ iii. * iv. =
| 5. The chart used to plot data for more than one data series.
| i. Pie ii. Scatter iil. Doughr{ut iv. Line
V1. Answer the following: 3X2=6
|. What can an Excel formula contain?
2. Name the any 8 types of chart.
3. Mention any 4 popular apps and where ‘hey are used.
VII. Label the parts marked in the figure: 4X1=4
/ 1
Sales of Differerent Types of Seed
/'5459
£400 .
5350
5200
£250 tg
2 5200 o . = 2
5150 -
’ 73] ) i 54
s ' e = & =
s = % ;ﬁ i 2]
Hemg Seed  Hemp S5eed Farszed Flaxseed Chis 22ed Chis Seed
wSales 1 5100 5150 5178 5180 %200 5250
Sales 2 S50 51C0 5200 5195 5400 53C3
l =Sales;L Salesi]
~

.

[=1




